Big Maths Beat That!: leacher Notes

CLIC Challenge 18

Step Location in the CLIC framework Title of Step

Progress Drive Step No.
Q1 Counting: Place Value 5 | can partition a 3dp number
Q2 Counting: Mastery of Numbers 9 | can understand 5, 6, 7, 8d numbers
Q3 Counting: Counting Along in 4 Ways -25s
Q4 Counting: Counting Along Scales 6 | can find the gap between 2 negative numbers
Q5 INN: ML.JIt.ipIying by 10 5 N | can multiply / -

Dividing by 10 5 divide whole numbers and decimals by 1000
Q6 INN: Multiple-Factor-Prime 4 | can understand prime numbers
Q7 Calc: + 37 | can solve any additions with 2dp
Q8 Calc: - 35 | can subtract numbers with tenths
Q9 Calc: + 30 | can combine 2 or more coin facts to solve division
Q10 Column Methods: + 10 | can solve any 5d + 5d
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